Math 102 – Quiz #4 (Sections 1.2 – 1.3) 
Name ______________________________
Show your work to receive credit!
1.
Use the distributive rule to expand the product  
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2.  
Simplify each polynomial.

a.
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3.
Show that the following two polynomials are equivalent by making an input/output table using the integers from 1 to 4.  The polynomials are 
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4.
Circle each linear equation in one variable.
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5.
Solve the linear equation 
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 using the guess and check method.  Use the integers –2, –1, 0, 1, and 2 as your guesses.
	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	



The solution to the equation 
[image: image11.wmf]4373

xx

+=-

 is ___________.
6.
Translate the following phrase into a polynomial with the variable x representing the unknown number.. 


Five times the sum of six times a number and two
__________________________________
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